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A

MATHEMATICS
Third (c) Paper
(Numencal Analysis and Programming in 'C )]
- Time Al]owed. Three Hours R M. M. : 50
‘ ' Part-A (AFT—31)
1 Evalute : Atan” x. T ST IR © Atan’ x
2. Define interpolation: 3=<1a¥r & IR fiRaw |
3. Write a relation between ordinary and divided differences.
' TR qar Ao sR 7 T+ fafaw |
4. Write the Bessel interpolation formula. IS =TI < R |
Write the Simpson's 3/8th rule. Ri== o1 arseaw i Ry |
Show that the root of the equation x* -9x + 1 =0 lie between x =2 and
x = 4. ﬂm@ﬁiﬁﬁ?ﬁwf@x+ 1=0FqAx=2 G x= 4$a’ﬁi
e &l
. Write the methods for finding the initial approximate value of a root.
. W%Wﬂﬁmmmmﬁﬁmm, |
8. What is a stream? T &1 §7
9, Define switch statement. a9 arq 31 g A |
10. Write 3-rules regarding functions. BeFl & 3 W W e |

Part-B (AFT-—9)
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11. Use the method of separation of sf,rmbo]s to prove the identity :

TAD! BN S FA B R § wdafe o1 s S

U, +U,x N U*x’
1! 21

12.  Find value of £5) from the following table :
T aRd | A5) @1 7 s P

2

+..=¢" [Uu +XxAU, +— AU, +}

21

x f(x) - -
1 2 .
2 4 =
3 8 . o
4 16
7 128 |

13. . Apply central difference formula to obtain y,,. Given that :

| Wﬁ?fﬂmﬁynmmmm:

: Y,s=0.2707, y,,= 0.3027, y,,=0.3386,y,,= 0.3794.1 :

14. Find the derivative of f(x) at x = 0.4 from the following table :
fr=farfad IRI ¥ Ax) B x = 0.4 W Iadersl i DT :

Xy
O.i 1.10517
0.2 1.22140
0.3 1.34986
0.4 1.49182 _
15. “Write a program to calculate sum of series :
2 ELE LY L atem
1 2 3 4

’ /
1 2 3

I = £—+33—+%+....n Te &1 Am T B B e C-unm

1 2
fafae :
Part-C (AFT—4)
Unit-I (go1%-1)
g 16. ~ Obtain the missing terms in the following table :
= - e SRV § B gY IR T e
= X fx)
- 1
> ;1
5 2 ;
= 3 )
s 4 64
= _
®
(o]
o]
=
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17.

18.

?

216
343
512

GO~ O\ Ln

- Or
Find the number of workers getting wages between Rs. 10 and 15
from the following table : fr=ifiRad TR & 10 T2 15 HIT B

A AR I Y AR B W T PG |
Wages (197gXl)  Frequency (3113f)
0-109
10-20 30
20-30 35
30-40 42
Unit-II (S&1$-1II)

b-a
Prove: [* flx)dx= &, F@+4fx)+2f(x,)+ ... +fb)] and estimate

"

of error for ) > giventhat log? = 0.69315.

» b—a :
Rrgdife [* Axydx = o S +4fx) + 2f (x) + ... +/0b)) Ton

p&
“x

@ v e AR wrafs R w3 log? = 0.69315

- o

Ffu(:;id lpe :al root of the equation xlog,  x~1.2= 0 correct five places

of decimal. WGV xlog, x-1.2'= 0 & et 3y 5 '

of deci | g, T I IHI I
| Unit-I (3%1$-111)

Write a program of calculate transpose matrix of given matrix.

mﬁﬁmmqﬁﬁ#@mmmﬁmmﬁﬁaﬁl

. Or | '
Brief the String fimctior and how will you compare them.

ﬁﬁﬂwa%ﬁmmqamrﬂaﬁgwaﬁﬁm
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